
Reduction Formula
Reduction (or recurrence) formulae can be used when the 
integrand is raised to a power.

Integration by parts often used to find the formula.
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Integration by parts is the commonest way of getting reduction 
formulae, but it is not the only method.

Some just involve the use of a trig identity. cotn xdx∫
Uses the same 
technique, for 

all powers.

So just use 
that technique
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Reduction formulae involving trig often reduces by 2. If you do 
not have to use parts you could try
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Sometimes integration by parts is not enough by itself.

Some involve the use of parts along with algebraic manipulation 
or use of a trig identity.
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e.g. (iv) (1987)
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(v) (2004 Question 8b)
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